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The news

GlaxoSmithKline Plc the world's largest maker of HIV/AIDS drugs has cut the price of its leading Combivir treatment in poor countries by 47 percent to under $1 a day. 

The move is the latest sign the international pharmaceutical industry is bowing to pressure to improve access to life-saving antiretroviral medicines in Africa and other parts of the developing world where AIDS has hit hardest. 

Activists have recently been joined in demanding such action by leading investors, who fear a failure to respond adequately could damage company reputations and jeopardise future profits. 

GSK's second price cut in seven months brings the cost of Combivir to governments, non-governmental organisations and many employers down to 90 U.S. cents per patient a day from $1.70. 

 The price for the two component drugs, when sold separately, will also come down by 38 and 45 percent respectively to 75 and 35 cents a day in the 63 countries eligible for the scheme. 

. But GSK's medicine remained more costly than generics, with India's Ranbaxy Laboratories Ltd offering the same treatment at 73 cents a day in a tablet approved by the World Health Organisation, he said. 

The AIDS pandemic has killed 3.1 million people around the world and 42 million people were estimated to be living with HIV/AIDS at the end of 2002, 29.4 million of them in Africa. 

UNAIDS, the United Nations agency spearheading the battle against the disease, calculates that by 2007 the world will have to find some $15 billion a year to successfully treat and combat AIDS in low and middle income countries. 

S.AFRICAN CONCERNS 

In South Africa, which with some 4.7 million people infected has the highest AIDS caseload, activists said GSK's price cuts did not go far enough. 

. 

The theory

Development Economics 
A developing country

Last week we noted some of the characteristics of many of the countries known as ‘developing’ but what do we really mean when we label a country in this way?

Well, it is one with real per capita income that is relatively low compared to that in advanced economies like the USA, Japan, Germany and other Western European economies.

We normally measure ‘development’ in a number of ways and these are done against certain agreed targets. These include:

· population growth in real terms 

· per capita GNP 

· adult literacy 

· life expectancy at birth 

· agricultural employment as a percentage of total employment 

Developing countries have populations with poor health, low levels of literacy, inadequate dwellings, and meagre diets.  They are NOT all the same and statistics show a great diversity amongst developing countries. Some remain at the very edge of starvation, or have what is now known as a high vulnerability rating, whilst others have either propelled themselves beyond immediate disaster or are beginning to show some positive signs. 

We also need to think about how the global economy will impact on the poorest nations.
It now an agreed fact that trade is carried out across wider geographical distances than was the case only twenty five years ago and with increased volumes being exchanged. We also accept fewer barriers to the movement of people, capital and products form part of most of the worlds 'markets'. We cannot ignore this fast growing trend and we need to think how it will affect these developing economies. It will have some influence on there:

· Employment - those who see globalisation as a 'success' point to the increase in employment world-wide. 

· Poverty - the thing now is to transform more and more countries into dynamic parts of this expansive economy.' 

· Capital - this is one area where the globalisation process has been seen to produce problems as well as perceived advantages. The sudden rushes either in or out of one market can cause serious problems for the domestic banking system and the exchange rate. 

· Debts - the scale of this problem has enormous potential for disaster amongst some of the poorest nations. 

The ingredients of growth in a developing economy are no different from those required in the advanced industrialised countries.

There are four basic needs, which are:

· Human Resources- the supply of labour, education, discipline and motivation. 

· Natural Resources- land, minerals, fuels, climate 

· Capital Formation - machines, factories, roads 

· Technology - science, engineering, management, risk-taking

Human Resources
You will need to note the problems associated with population and developing economies and address the difficulties associated with the quality of labour available to an economy. 

Economic Growth, which is essential for Economic Development (and they are NOT the same thing) has a large reliance on:

· Controlling disease and improving health facilities - success in these areas will improve life styles, make people happier and increase productivity. So, the provision of a sewerage system or a health centre is not a luxury but a necessity. 

· Improving education, reducing illiteracy and training workers in the skills needed for production and enterprise. - Many economists believe that the quality of labour inputs is the single most important barrier to economic growth. Virtually every other ingredient in production - capital goods, raw materials and technology - can be bought or borrowed from advanced countries. But the application of high-productivity techniques of production to local conditions almost always requires management, production workers and engineering know-how found only in an educated, literate and skilled workforce. 

.

Natural Resources
Some poor countries of Africa and Asia have been poorly endowed by nature, and the minerals and land they do possess must be divided amongst large populations. Moreover, land ownership patterns are a key to providing farmers strong incentives to invest in capital and techniques that will increase the land's yield. If farmers own the land (and this is not always the case) they will be willing to make improvements, invest in such schemes as irrigation and undertake appropriate conservation practices.

Capital Formation
Workers in the developed world have much more capital back up than their counterparts in developing countries. The accumulation of capital requires the sacrifice of current consumption over many decades. 

. Another type of capital that we must examine is known as Social Overhead Capital. For any economy to begin the development process it must possess the 'hard wear' needed to support the industrial process. This will include:

· roads 

· rail connections 

· irrigation programmes 

· dams 

· public health programmes to combat the killer disease, such as malaria that is so prevalent in many developing countries. 

. 

External Sources of Funds

Another problem faced by many developing economies is that of 'where does the money come from'? This involves seeking outside sources of funds and they are forthcoming in a number of forms

. Some of the loans have been put to good use and have flowed into industries such as textiles, oil drilling and coal mining but some had simply fuelled higher and higher consumption patterns and had not laid down any real capital stock from which future growth could be produced. 

As long as the exports of these developing countries grow at the same rate as their debts then nothing too serious can happen but rises in international interest rates and the slowdown in the world economy after 1980, saw a growing number of developing countries record high levels of debt. 

Almost all in-debted developing countries staggered under huge repayment commitments. The problem was a two-part difficulty in that they needed to:

(a) pay the capital or principal sum
(b) pay the interest on that sum

Technological change and innovations
In addition to the fundamental factors of population, natural resources and capital formation, there is the vitally important fourth factor of technology. Here the developing countries do have one advantage in that they can rely on the technological skills of more advanced countries.

· Initiating technology - developing countries do not have to pass through the slow process associated with the Industrial Revolutions that formed part of the development process of the now more advanced economies. They relied heavily on adapting the processes already applied in other industrialised economies. 

· Risk-taking and innovation - from the histories of Japan and the USA, it might seem that adaptation of foreign technology is an easy way to foster development. It is now felt by a growing number of development experts that a fundamental requirement of the developing countries is the fostering of the entrepreneurial spirit. They feel that a country cannot thrive without a group of owners or managers willing to undertake risks, open new plants, adopt new technologies, confront labour changes and import new ways of doing business. Government can help sponsor the environment by setting up such facilities as: 

· extension services to agriculture 

· educating and training the workers 

· establishing management schools 

· an acceptance within government of the need for private initiative 

Topic of the Week – Africa and its development problems

Some observers now feel that Africa is, with some obvious exceptions, beginning to show some positive signs of economic development. Increased international investment, accelerated growth in job creation and some of political stability are accepted indicators of an improved economic outlook. Without such signs the possibility of the continent becoming ' marginalised ' in the global economy seemed inevitable. The overall economic growth rate in sub-Saharan Africa is now approximately 3.7 per cent compared with only 1.9 per cent in 1994. 

So, what were the main causes of these varying rates of growth?

1. Rising levels of domestic investment 

2. Rising levels of foreign direct investment, which though tiny by international standards has been rising. 

3. Stronger prices for raw materials and agricultural products such as cocoa, coffee and cotton. These price rises have now been noted in the US as one of the indicators that the main trading economy will slow down a little in the near future. 

4. Improvements in agricultural productivity, which has allowed an increased number of countries to improve their food sufficiency rates. 

5. Increased European demand for African manufactured goods, mainly of the low and moderately priced categories eg shirts, jeans, shorts etc, but Zimbabwe has seen an increase in its higher valued fashion exports. Unit labour costs show that African producers of standardised garments, like men's shirts are well within the competitive cost ranges of Asian producers 

6. Expanding African entrepreneurship and rising labour productivity 

The reduction in the level of external debt, especially amongst the 29 most severely indebted low-income countries will also assist the fight against continued poverty. Debt servicing currently costs at least 4 per cent of GDP and some reports suggest that if this figure could be cut by a half then this would free up considerable future productive capacity, so stimulating investment

7. The development of productive employment - this has not kept pace with increasing supplies of labour. This has resulted in declines in real wage levels, working and living conditions. Alas, this has contributed to forecasts that the proportion of the population living beneath the poverty line will increase to over 50 per cent. Indeed, over half of the region's population lives on less that $1.50 per day. 

8. Only one in ten workers in Sub Saharan Africa is engaged in formal, wage-styled employment in the modern manufacturing and service sectors. Many workers, especially women, are self-employed and their economic contribution is poorly remunerated and scarcely registered. With poverty pervasive, child labour is rife, with some estimates putting those working aged 10 to 14 years as high as 16 million. 

9. Nearly 75% of the labour force of the region (around 315 million men and women) work outside the formal economy. In world terms this is over 9 per cent of the entire workforce of the planet is engaged in subsistence agriculture, or in badly paid 'informal activities' such as street vendor. 

10. Registered unemployment rates in urban areas have now risen to beyond 25 per cent of the declared population. When 'underemployment' is added to this figure it is possible that nearly 55 per cent of the potential urban workforce are less than fully employed. 

11. Demographic projections of the increases in both urban and rural populations point to their being a need to expand the jobs market by a staggering 8.7 million per year until the year 2010. 

Some questions

1. In what ways can we measure the economic development of a particular economy?

2. How might a country expand its level of Social Overhead Capital?

3. What are the main economic reasons for Africa continuing to be such a poor continent?

4. Why have Glaxo cuts its HIV/Aids drug prices?

Suggested answers

1.We can measure economic development in a number of ways. These include: population growth and the changes in per person income levels, adult literacy, life expectancy, agricultural employment as a percentage of total employment, protein intake and access to clean water and sanitation. The Human Development Index of the World Bank is often considered as the best measure of economic development within a country.

2. Social Overhead Capital is needed to supply the essentials of development. Its includes

· road or highway construction

· rail connections

· irrigation programmes

· dams and water supplies

· public health programmes

· utility supplies, such as electricity

· sanitation systems

These are important factors in determining development and underpin the investment being made elsewhere in the economy.

3.Africa continues to be a poor continent because a wide range of reasons. These include:

· its has struggled to attract large inflows of international investment

· it has been unable to exploit within the domestic economy many of the natural and agricultural resources it possesses – so allowing much of the value added to be ‘exported’ to other countries

· Climatic problems, land ownership problems, and a lack of capital investment and poor land management have suppressed its agricultural productivity.

· A lack of enterprise and innovation in manufacturing

· Large external debts which cause the governments of the continent to allocate large amounts of foreign exchange to debt clearance

· A small formal economy that pays relatively low wages and does not generate large tax receipts for government

· A large informal economy, which is difficult to regulate and tax

· The rigors of the Structural Adjustment Programmes imposed by the World Bank

· Large increases in population, which imposes the costs of schooling, health care and eventually employment on what are mainly poor countries

4. Glaxo have cut their prices as they are conscious of the inability of most Aids sufferers to pay for their drugs and the growing alarm of certain pressure groups as to the profits being generated by such drugs. It is aware that US pressure on the World Bank has led to the ending of generic equivalents being made in India but they will still available from Brazil and other South American countries. Though Aids drugs contribute a small amount of group sales they will grow in importance and the public relations advantages are considerable. The company wants to see more government money put to allowing sufferers to buy drugs but that seems to be a rather optimistic dream. If public and political opinion alters and allocated more money to aids drugs then Glaxo will be well placed to take advantage of this as it should have a high market share. Also, it wants to enter the larger and potentially more profitable markets of malaria and TB treatment, both of which can be cured, whilst HIV/Aids is suppressed. So, some hard-nosed business decisions are driving this apparent change of heart. More sales mean more economies of scale and margins may not be as squeezed as would appear on first analysis.

